
A13.2 (mod 11)

blocks defect matrix

G : 1 1 11× 10
2 1 11× 10
3 0 661 = χ4,0, ϕ4,0

4 0 662 = χ4,1, ϕ4,1

5 0 2201 = χ6,0, ϕ6,0

6 0 2202 = χ6,1, ϕ6,1

7 0 4291 = χ7,0, ϕ7,0

8 0 4292 = χ7,1, ϕ7,1

9 0 4293 = χ8,0, ϕ8,0

10 0 4294 = χ8,1, ϕ8,1

11 0 4295 = χ9,0, ϕ9,0

12 0 4296 = χ9,1, ϕ9,1

13 0 9241 = χ10+, ϕ10+

14 0 4951 = χ12,0, ϕ12,0

15 0 4952 = χ12,1, ϕ12,1

16 0 5721 = χ13,0, ϕ13,0

17 0 5722 = χ13,1, ϕ13,1

18 0 7921 = χ14,0, ϕ14,0

19 0 7922 = χ14,1, ϕ14,1

20 0 12871 = χ16,0, ϕ17,0

21 0 12872 = χ16,1, ϕ17,1

22 0 14301 = χ18,0, ϕ18,0

23 0 14302 = χ18,1, ϕ18,1

24 0 25741 = χ19,0, ϕ19,0

25 0 25742 = χ19,1, ϕ19,1

26 0 25743 = χ20,0, ϕ20,0

27 0 25744 = χ20,1, ϕ20,1

28 0 28601 = χ21,0, ϕ22,0

29 0 28602 = χ21,1, ϕ22,1

30 0 30031 = χ22,0, ϕ23,0

31 0 30032 = χ22,1, ϕ23,1

32 0 34321 = χ23,0, ϕ25,0

33 0 34322 = χ23,1, ϕ25,1

34 0 34323 = χ24,0, ϕ26,0

35 0 34324 = χ24,1, ϕ26,1

36 0 34325 = χ25,0, ϕ27,0

37 0 34326 = χ25,1, ϕ27,1

38 0 35751 = χ26,0, ϕ28,0

39 0 35752 = χ26,1, ϕ28,1

40 0 40041 = χ28,0, ϕ29,0

blocks defect matrix

41 0 40042 = χ28,1, ϕ29,1

42 0 42901 = χ30,0, ϕ30,0

43 0 42902 = χ30,1, ϕ30,1

44 0 85801 = χ31+, ϕ31+

45 0 50051 = χ33,0, ϕ35,0

46 0 50052 = χ33,1, ϕ35,1

47 0 51481 = χ34,0, ϕ36,0

48 0 51482 = χ34,1, ϕ36,1

49 0 57201 = χ35,0, ϕ37,0

50 0 57202 = χ35,1, ϕ37,1

51 0 60061 = χ36,0, ϕ38,0

52 0 60062 = χ36,1, ϕ38,1

53 0 64351 = χ37,0, ϕ39,0

54 0 64352 = χ37,1, ϕ39,1

55 0 68641 = χ38,0, ϕ40,0

56 0 68642 = χ38,1, ϕ40,1

57 0 160161 = χ41+, ϕ41+

58 0 85802 = χ43,0, ϕ43,0

59 0 85803 = χ43,1, ϕ43,1

60 0 90091 = χ44,0, ϕ44,0

61 0 90092 = χ44,1, ϕ44,1

62 0 102961 = χ46,0, ϕ45,0

63 0 102962 = χ46,1, ϕ45,1

64 0 114401 = χ47,0, ϕ46,0

65 0 114402 = χ47,1, ϕ46,1

66 0 115831 = χ48,0, ϕ47,0

67 0 115832 = χ48,1, ϕ47,1

68 0 120121 = χ49,0, ϕ48,0

69 0 120122 = χ49,1, ϕ48,1

70 0 120123 = χ50,0, ϕ49,0

71 0 120124 = χ50,1, ϕ49,1

72 0 128701 = χ51,0, ϕ50,0

73 0 128702 = χ51,1, ϕ50,1

74 0 150151 = χ52,0, ϕ51,0

75 0 150152 = χ52,1, ϕ51,1

76 0 171601 = χ53,0, ϕ52,0

77 0 171602 = χ53,1, ϕ52,1

78 0 205921 = χ54,0, ϕ53,0

79 0 205922 = χ54,1, ϕ53,1

80 0 214501 = χ55,0, ϕ54,0



blocks defect matrix

81 0 214502 = χ55,1, ϕ54,1

2.G : 82 1 7× 5
83 0 3521 = χ58,0, ϕ57,0

84 = 83 0 3522 = χ58,1, ϕ57,1

85 0 42241 = χ62,0, ϕ62,0

86 = 85 0 42242 = χ62,1, ϕ62,1

87 0 45761 = χ63,0, ϕ63,0

88 0 45762 = χ63,1, ϕ63,1

89 0 49281 = χ64,0, ϕ64,0

90 = 89 0 49282 = χ64,1, ϕ64,1

91 0 88001 = χ65,0, ϕ65,0

92 = 91 0 88002 = χ65,1, ϕ65,1

93 0 91521 = χ66,0, ϕ66,0

94 0 91522 = χ66,1, ϕ66,1

95 0 183041 = χ67+, ϕ67+

96 0 183042 = χ69+, ϕ69+

97 0 95041 = χ71,0, ϕ71,0

98 = 97 0 95042 = χ71,1, ϕ71,1

99 0 137281 = χ76,0, ϕ76,0

100 0 137282 = χ76,1, ϕ76,1

101 0 274561 = χ77+, ϕ77+

102 0 320321 = χ79+, ϕ79+

Block 1: ϕ1,0 ϕ2,1 ϕ3,1 ϕ5,0 ϕ15,1 ϕ16,0 ϕ21,1 ϕ24,0 ϕ33,1 ϕ34,0

11 = χ1,0 1 . . . . . . . . .
122 = χ2,1 . 1 . . . . . . . .
652 = χ3,1 . 1 1 . . . . . . .
2081 = χ5,0 1 . . 1 . . . . . .
9362 = χ15,1 . . 1 . 1 . . . . .

13651 = χ17,0 . . . 1 . 1 . . . .
36402 = χ27,1 . . . . 1 . 1 . . .
42121 = χ29,0 . . . . . 1 . 1 . .
73712 = χ39,1 . . . . . . 1 . 1 .
78001 = χ40,0 . . . . . . . 1 . 1
93601 = χ45,0 . . . . . . . . 1 1



ϕ1,0 = 11
ϕ2,1 = 122
ϕ3,1 = 532
ϕ5,0 = 2071
ϕ15,1 = 8832

ϕ16,0 = 11581
ϕ21,1 = 27572
ϕ24,0 = 30541
ϕ33,1 = 46142
ϕ34,0 = 47461

Block 2: ϕ1,1 ϕ2,0 ϕ3,0 ϕ5,1 ϕ15,0 ϕ16,1 ϕ21,0 ϕ24,1 ϕ33,0 ϕ34,1

12 = χ1,1 1 . . . . . . . . .
121 = χ2,0 . 1 . . . . . . . .
651 = χ3,0 . 1 1 . . . . . . .
2082 = χ5,1 1 . . 1 . . . . . .
9361 = χ15,0 . . 1 . 1 . . . . .

13652 = χ17,1 . . . 1 . 1 . . . .
36401 = χ27,0 . . . . 1 . 1 . . .
42122 = χ29,1 . . . . . 1 . 1 . .
73711 = χ39,0 . . . . . . 1 . 1 .
78002 = χ40,1 . . . . . . . 1 . 1
93602 = χ45,1 . . . . . . . . 1 1

ϕ1,1 = 12
ϕ2,0 = 121
ϕ3,0 = 531
ϕ5,1 = 2072
ϕ15,0 = 8831

ϕ16,1 = 11582
ϕ21,0 = 27571
ϕ24,1 = 30542
ϕ33,0 = 46141
ϕ34,1 = 47462

Block 82: ϕ55+ ϕ58+ ϕ60+ ϕ72+ ϕ74+

641 = χ56+ 1 . . . .
17281 = χ59,0 1 1 . . .
17282 = χ59,1 1 1 . . .
49921 = χ60+ . 1 1 . .
224641 = χ72+ . . 1 1 .
224642 = χ74+ . . . . 1
416001 = χ81+ . . . 1 1

ϕ55+ = 641
ϕ58+ = 16641
ϕ60+ = 33281
ϕ72+ = 191361
ϕ74+ = 224641


